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SRS (FA)(22) -8.85 -7.97 -5.66 -0.47
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S22 S (FAN)AT -9.22 -8.72 -6.80 -2.07
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SE2AHEIS(F4!)C -9.02 -8.32 -6.19 -1.22
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SE2XHE1S(F4)C2 -9.34 -8.94 -7.13 -2.53
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S22 Y1 S(FA!)C-Pel -9.11 -8.49 - -
(HIm X< ChH| & 2) (-2.34) (-3.36) - -
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NNEEIN 0.16 27 0.16
BHOH 3] At 0.23 38 0.23
AFE 2B AHALEFR T 0.01 1 0.01
ol BHAF2 2H2) 3] Ab 0.01 1 0.01
245 0.40 68 0.40
JIEtHI 2] =) 0.00 0 0.00
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IANEAYR S
P 0.08 15 0.09
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=214 Al 0.15 28 0.17
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QLA 2H2] 5] AL 0.01 0 0.01
245 0.55 3 0.55
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ANEAAR S
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=2 Al 0.15 1 0.17
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p SE, HIEHIE (Sl et ik %)
<= EE=-HIEHIS(A) | OHOH-S=+==+==HIE(B) ™ S (A+B)
Soayg s (=A)(SL) iyl 0.0029 0.437 0.4399
B = 0.0027 0.4748 0.4775
o = iyl 1.6051 0.426 2.0311
I=R=F| Ct ESPN|
STRUHSTSFAAL = 1.6049 0.4812 2.0861
- = iyl 2.2048 0.4541 2.6589
sS=2Xx Ct KAl
SRS (FACT = 2.2046 0.4885 2.6931
= = iyl 0.7546 0.4499 1.2045
=22 ct KAl —
STEUETS(FEAIC = 0.7546 0.4696 1.2242
- = iyl 2.079 0.2809 2.3599
sS=2X Ct KAl
STBULTS(FNC = 2.0795 0.4628 2.5423
- = iyl 1.9539 0.4617 2.4156
=2 X H||Ct = Al
STEBUHLTS(FNCS = 1.9539 0.4936 2.4475
- = iyl 1.8273 0.4403 2.2676
sS=2Xx Ct KAl
STBULTIS(FENIC = 1.8272 0.4835 2.3107
= = iyl 1.7051 0.4272 2.1323
sS=2X Ct KAl
STBUHSTS(FACS = 1.7049 0.4785 2.1834
o = iyl 1.052 0.4582 1.5102
I=R=F| Ct ESPN|
STRULSTS(FAS = 1.0517 0.477 1.6287
o = iyl 1.1548 0.4489 1.6037
== Ct KAl
SFAUS12(FH)A = 1.1546 0.5005 1.6551
= = iyl 1.2042 0.4453 1.6495
s=2Xx Ct KAl
ST sFHICe = 1.2042 0.4765 1.6807
= = iyl 0.7044 0.671 1.3754
s =2X Ct K Al —
STHSIsEFMC-W = 0.7051 0.5229 1.228
= = iyl 1.5392 0.4452 1.9844
sS=2Xx Ct KAl —
A A = 1.5394 0.4522 1.9916
= = iyl 1.5016 0.4811 1.9827
sS=2Xx Ct X Al —
STUSIS(FHIC-P2 = 1.5017 0.4764 1.9781
o = iyl 1.1082 0.4108 1.519
I=N=F| Ct KAl —
STEUS(F4)C-Pet = 1.1169 0.4519 1.5688
o = iyl 1.1002 0.5311 1.6313
I=N=F| Ct XAl —
SFEUE1S(FHIC-Pe2 = 1.1001 0.5187 1.6188
=1) EE=-HI&HI2(Total Expense Ratio)0lgt 282+ S HENAN REots 'E+'2 JIEIHIS' SHS &R HBEEA(E -]
Z XN IE)CZ Uz HIEZAM oflg 28712t & SXNAIL F8t & E+-HIE+ES LIEHELICH
Z=2) OHOH-BoH====2 HISO0I2 OHOH-SH++=2E =X AETA(E4-HIE U2 JIIE)2Z L= HIEZAN g 28I S =
XA =get l-SHh+=+=52 === LEI-LICH
6. S XHXHAHOHOHLH
> OHOHF=AMRE L 3| NHE (Er9): okl %)
SRS (FA)(ES)
0= S OHOHSI M8 ©
= =2 =& =N o &1 2F Atk
642,795 33,598 1,076,273 34,833 58.07 230.37
=) HOHSI M S0Iet Y 28012 S & FAItMo SHS O oilg 28|12 & ERE A9 BZIUCZ Lz HIEYUICH
OHOHBI M 20| =22 0K HN==2(0.1% U2I) X SZHAHAM(OHE Al 0.3%) 222 AX SXAIL SEGHH &= HEHIEO0
SIHELILE
> =2 3= =4 Oi0iel&E =0l (E+1: %)
ERIWHEIS(FA(ES)
2017-12-07 ~ 2018-03-06 2018-03-07 ~ 2018-06-06 2018-06-07 ~ 2018-09-06
56.47 49.88 58.07
SXIArE
0l EDM= MHEAIZHO0ll 2o OI0ICHA EREE S SNHAE 1S5 (FA)(22)2 TM2E3IAtL! DHOITHA AT A 280] 24
OtOl HETHAZ 23| AHAIEFH XN Q! KEBSHLI2 2| &0l &0 F=0EZ MBS Soil SAX MSELICH O 22 olee
CO| HETHAIZ 2B AHA ST AR &lD(2te 22 KEE & 01= J[2H0 LT
2E 20M &l OHoITHAOIA Xt 2 & () http://www.midasasset.com/ 02-3787-3500
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